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dbiEE 647 543 6,465
EHE 181 160 1,962
5FR 221 266 2,419
=R 275 161 1,943
MEE 194 197 2,054
5= 123 155 1,913
BER 334 270 3,192
TR 419 243 1,829
HARE 216 176 2,384
HER 296 203 2,392
BER 380 283 2,415
FER 451 425 2,007
RIRED 404 337 1,201

&R 603 430 2,273
iR 360 279 4,447
EILE 153 100 2,755
alE 145 71 2,252
fBHE 78 91 1,437
IR 235 97 1,529
RHE 404 271 3,280
=R 205 191 4,461
FafE 2 554 267 4,075
BHIR 693 360 4617
=EE 176 228 3,323
HER 183 86 2,740
REBAT 213 188 1,845
KB AT 584 278 2,462
EER 595 294 4,278
ZRER 138 125 1,497

FoERLE 120 125 1,469
SHE 125 93 1,395
ERE 112 116 2,171
fif] |11 IR 354 177 4,137
LEE 579 245 3,599
wog 211 221 3,739
R 105 73 1,465
FINE 104 97 1,339
FIER 143 113 2,416
EHIR 68 53 2,054
fa& [ 18 659 357 4,293
EER 116 91 2,144
RIGE 148 119 1,943
REARER 164 113 2,546
RHR 248 133 1,916
=GR 191 86 1,740

ERBE 136 129 1,697
B IR 153 0 868

&t 13,196 9,116 120,378




